[Participant ID
Participant Name
Test Center Name

Test Date _3_1/0 7/2023
Test Time 12:00 PM-1:30 PM
Subject TECHNICIAN GRADE |

(fzga Farea, ad 83w & ada sarae S

Section : General Intelligence & Reasoning

Q.1 Rw aw Rwedt § & 3@ HeTUHT (alpha-numeric) T§ T T &, S EEATOTET s@en # wea REa

(?) = STEINE T T

NTY-10, LRW-26, JPU-62,

Ans X1 HNS-132
v 2 HNS-126
X3 HNT-125
X 4 HOS-124

gl

?, FLQ-226

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287012
6306801115962
6306801115961
6306801115960
6306801115959
Not Answered

Q2 o Bftaa gz oo &, 7% & w7 o Sy Fow w7 o § @ w e § ot % @
‘Terer ¥, & v e e & A we RS

BHAH(1B@6) & (55 % 41) @ 2& (24 & 12) @ 6 = 7

Ans K 1.187
X 2160
3 193
X 4180

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287020
6306801115993
6306801115991
6306801115994
6306801115992
Answered

3




Q.3 ﬁcmmaﬁ?ﬁwaﬁmﬁmﬁlwmg%m#aﬂémmkmam
AT AT Tt T e 9dT 2y &, Fow F & R o Tt # ¥ ST and ey wuEt o v

Ans

TR T & AT T /I E2
FUT:

Tofr g, Rt E

FT &R, WA §

= e, od B

o

. o Gsfeal, oa g1

II. o exam, Fsfar &)

X 1. FHaS | IFTEIOT HLAT gl
v | AT S sregEer w2

% 3 &aer || TEIOT HIA g
x 4
7 @ | HTEOT FIar g T 7 & 1 IFFEOT T g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287014
6306801115967
6306801115970
6306801115968
6306801115969
Answered

2




Q4 =7 e & TEw R, Twd & % amply afeaRa (o #r w6 B

R%

Ans

< 4.

¥
xa SE
&3

Question ID : 630680287018
Option 11D : 6306801115983
Option 2 ID : 6306801115985
Option 31D : 6306801115986
Option 4 ID : 6306801115984
Status : Answered
Chosen Option : 2
Q.5 =7 fheT & =0 &, F TEE T § I THER TS 8, S0 GE0 TEAT Tge FEAT § Hafdd ¥
Ay =tefr I delr gEw ¥ TET 7
17 : 46 19 : 62 2 22 : 7
Ans X 1. 71
X< 2 BB
3 61
X 4 58
Question ID : 630680287023
Option 11D : 6306801116006
Option 2 ID : 6306801116005
Option 31D : 6306801116004
Option 4 ID : 6306801116003
Status : Answered
Chosen Option : 3




Q.6 Prafafe Fwar s@er & @t o A 57F ag BT 0 o F 5o &

(@) 254789347683472356794583467893456789346578

693824658473284328632898 (@M
Tfy sudted T & waft Faww weurst & gar fr v, & O wear fBder & 917§ waer g A

¢ ¥ SHST FEAT F T Thger e
Ans p 8
X2 6
X310
X412
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
ChosenOption

630680287011

6306801115956
6306801115955
6306801115957
6306801115958

: Answered
01

Q7 Rrrafafle FHT F T T = & v 5 o gemst # aaw F acer = afRwe

9+54+18 x 10 -16 = 62

e K18 it 16
X293k 16
X3 54 3R 10
v+ 18 3T 9
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287021
6306801115996
6306801115995
6306801115998
6306801115997
Not Answered

Q8 uw ¥ww e s #, 'SEPOY. &1 110w =rar ¥ 3iiv ‘COURT @ 116" foram =mem &1 3 s
# FIGHT #r F1 g seem?

Ans 1170
X2 155
<3162
<4165
Question ID
Option 11D
Option 2 ID
Option 31D
Option 41D :
Status :
Chosen Option :

1 630680287013

1 6306801115966
1 6306801115963
1 6306801115964

6306801115965
Not Answered




Q.9

P.Q R, S T3t U=H & oF =fEd w ol a5 & Ia: 589 &g & 3R #iamy et 3 &1 P,
REFSF R INTTE AT Q TH SF a8 3N SO A §37 §1 S, Q F 5 37 g T W
1S, QFTE I TIT REIR, TF aE 3N g T W 1 U & 715 3 & I8 7 |

Fi der §7?
Ans o 9 T
v2 P
X3 R
X435
Question ID : 630680287009
Option 11D : 6306801115950
Option 2 ID : 6306801115947
Option 31D : 6306801115948
Option 4 ID : 6306801115949
Status : Answered
Chosen'Option : 2
Q.10 =7 e & =07 F{ S TS HET-THE I THN FARA ¥, AT U HEL-TAE Ted HEW-HAE
F gafte ¥ sik Shr ey dY seR-wEE € et #
ZHPT : UQIA :: BNTK : LUOC :: FYCR : ?
Ans X1 DSGZ
v 2 SDZG
X3 ZSDG
x4 GDZS
Question ID : 630680287015
Option 11D : 6306801115971
Option 2 ID : 6306801115972
Option 31D : 6306801115973
Option 4 ID : 6306801115974
Status : Not Answered
Chosen Option : --
Q.11 f2w aw fawedt & & 3@ FEOT & T HL, F HEATGTET @ # To Rea (?) @ sfawa &=
THdT Bl
55, 57, 66, 94, 159, 285,?
Ans 1. 502
X2 432
X 3. 490
X 4 466
Question ID : 630680287022
Option 11D : 6306801116002
Option 2 ID : 6306801115999
Option 31D : 6306801116001
Option 4 ID : 6306801116000
Status : Not Answered

Chosen Option :




Q12 37 wgfy 1 woa w1 & FERfd guen & wdamE Rea (7) F w9

A O A
AU £ ?
O

O
A

Ans

)
g
3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287016
6306801115977
6306801115978
6306801115976
6306801115975
Answered

1




Q.13 et & ¥ 57 gva 1 To ) o giadt w1 e F 9@ g9y ¢ S A faw ew gem A

Ans

it = & §

¥ | e

| [

=
X3 ﬂ:}
¥

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287019
6306801115989
6306801115990
6306801115987
6306801115988
Answered

3




Q.14 Jgr & fa & Ry 77 §, 2907 F PQ' 9T W@ T W BT v gutee = ahr & Ee =
wiafds =T fifemw)

P

Z42Ty

" T THZ
ATSYX

*>S¢S LA
+oyTSAX

Question ID : 630680287017
Option.1 1D : 6306801115982
Option 2 1D : 6306801115981
Option 31D : 6306801115979
Option 4 1D : 6306801115980
Status : Answered
Chosen Option : 4
Q15 zear foam #r 3 sfEAE gew 3 Fo TemfiEt $ w 9T #, Fee 7 Regndt G & oF @R
5 §| ®Fd U oR ¥ 229 TaE W §1 R At sae & 9 Fa 12 Gt 88 §1 Fae, R
F g 3R T e W dar &) 99T & A foemndt & 2
Ans X1 41
2 42
X3 40
X4 43
Question ID : 630680287010
Option 11D : 6306801115952
Option 2 ID : 6306801115953
Option 31D : 6306801115951
Option 4 ID : 6306801115954
Status : Not Answered
Chosen Option : --

Section : General Awareness




Q.1 =¥ 2022 & FA=fafaa § @ 9 YR 1 9@ TST HIthl ISR AT UT?

Ans o 1 FAfesH
X 2. T
5 3. e H
< 4. snfsem
Question ID : 630680287031
Option 11D : 6306801116036
Option 2 ID : 6306801116038
Option 31D : 6306801116037
Option 4 ID : 6306801116035
Status : Answered
Chosen Option: 3
Q.2 2022 giEARH} e h YETIR Yahich o IR VR, YETIR & ATHA # fohe < wR 82
Ans X 1.90af ®H
X 2. 753t ©m=
75 3.80ai ==
o 4. 8501 ®IH
Question ID : 630680287024
Option 1 ID : 6306801116007
Option 2 ID : 6306801116010
Option 31D : 6306801116009
Option 4 ID : 6306801116008
Status : Not Answered
Chosen Option : --
Q.3 @rT € Fafafaa & 9 fora e/ nfaa e d [Ra @2
Ans X 1.dE™@
25 2. 57 3R SR
X 3. fEumee mear
o 4. STTUTEA UG
Question ID : 630680287030
Option 11D : 6306801116032
Option 21D : 6306801116031
Option 31D : 6306801116034
Option 41D : 6306801116033
Status : Answered
Chosen Option : 3




Q.4 frafafEa d | R ‘argee & midt & w9 7 50 sran g, i wRa d &0 @rrE areft

Ans

ARG ht rauRom €t off?
X 1. 2o Rmdies

K 2. Aot drestT
X 3 FGEaA
o 4. AR SR

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680287034

6306801116048
6306801116049
6306801116047
6306801116050

Status : Not Answered
Chosen Option : --

Q.5 ot Ffifa Reeht-mad vaiad R wroat ok danfa st & ges qermm?

Ans X 1.9R
o 2.98
X 3.9
X 4.df=
Question ID : 630680287032
Option 11D : 6306801116039
Option 2 1D : 6306801116041
Option 31D : 6306801116042
Option 4 1D : 6306801116040
Status : Not Answered
Chosen Option : --
Q.6 gt wiferdl wrafaa (NSO) & sifAaRiRe stichsl & IFHR, 2023 Y STHa-ATd famrgt #
... (GDP) gf & Rberht ofi?
Ans ¥ 1.6.1%
X 2.41%
X 3.51%
X 4.71%
Question ID : 630680287027
Option 11D : 6306801116021
Option 2 1D : 6306801116019
Option 3 1D : 6306801116020
Option 4 1D : 6306801116022
Status : Not Answered

Chosen Option :




Q.7 .. 4. 3R.- ekt T ATfcRuh SIFHU HRAH o1 e Fefaf@a d 4 fra asa d

fRag?
Ans X 1. dfAeETg
< 2. AT
X 3. enig R
o 4. HA
Question ID : 630680287033
Option 1 ID : 6306801116044
Option 2 ID : 6306801116045
Option 31D : 6306801116046
Option 4 ID : 6306801116043
Status : Not Answered
Chosen Option : --
Q.8 he forare urg, [ &feior gian &Y wer<t wi=lt uTepfaren T AT SITaT 8, 98 WRd & fA=fafa@a
A fraosud R@ag?
Ans X 1.80x
< 2. feaTae v
X 3.
o 4. AETeT
Question ID : 630680287035
Option 11D : 6306801116052
Option 2 ID : 6306801116051
Option 31D : 6306801116054
Option 4 ID : 6306801116053
Status : Not Answered
Chosen Option : --
Q.9 fafer wRepR iR wReiT wsifae sfeal & i wem MR T@e & ERM gaTees frsa
3R fafesr araTsy &= 1 IS SR WRA T THTE R AT?
Ans X 1.Sifst VI
o 2.5V
X 3.wsag Vil
X 4. RfmmIv
Question ID : 630680287029
Option 11D : 6306801116029
Option 21D : 6306801116030
Option 31D : 6306801116028
Option 41D : 6306801116027
Status : Not Answered

Chosen Option :




Q.10 fAigeht STwiEar &1 ifdeniar wnT (Y Singhalese aT Cingalese +ft forar siran 8) Fafaf@a &

@ forg ugieft o1 & g SiTan 87
Ans o 1. sficiar
X 2. =iER
75 3. gfreesr
X 4 Ut
Question ID : 630680287036
Option 11D : 6306801116058
Option 2 ID : 6306801116057
Option 31D : 6306801116055
Option 4 ID : 6306801116056
Status : Not Answered
Chosen Option : --
Q.11 fA=faf@a & @ @i I vrar WRg S 6 sradi srggeht & nfae g 827
Ans o 1. ARaTS!
X 2. G
X 3391
X 4.3
Question ID : 630680287038
Option 11D : 6306801116064
Option 21D : 6306801116063
Option 31D : 6306801116065
Option 41D : 6306801116066
Status : Not Answered
Chosen Option : --
Q.12 &g TRFR & 31feh TAaTor 2022-23 & IFHR, FY22 H, Fhed ATHIHR fhe=r u1?
Ans X 1.16.5 % =
X 2.36.5 s I
o 3.26.5 s I
X 4.65.5 s I
Question ID : 630680287028
Option 11D : 6306801116025
Option 2 ID : 6306801116024
Option 31D : 6306801116026
Option 4 ID : 6306801116023
Status : Not Answered

Chosen Option :




Q.13 S 2023 deh & FHR, Aideiies &3 & Fr=faf@a d @ forw dea d svfanial Y den g

Chosen Option :

3ifdeh &2
Ans o 1. Ja oifw Efean
< 2. ¥ 3ITh Tt
< 3. USTa AFd S
X 4. 3T dw
Question ID : 630680287026
Option 11D : 6306801116015
Option 2 ID : 6306801116016
Option 31D : 6306801116017
Option 4 ID : 6306801116018
Status : Not Answered
Chosen Option : --
Q.14 2011 &Y STFRTUMT & AR, 2001-2011 & 32Uk # HIRA it STEEAT hHY gy & fhast ofi?
Ans X 1.18.85%
% 2.19.92%
% 3.16.63%
o 4.17.64%
Question ID : 630680287037
Option 11D : 6306801116061
Option 21D : 6306801116062
Option 31D : 6306801116059
Option 41D : 6306801116060
Status : Answered
Chosen Option : 4
Q.15 e w3mer (MoE) Y 39 Uge ohl &T -1 &, Foierent I23 331 ¥R # s, faheiRi ofik gamsi &
HIY ITh WA S@HTeThd il sl A-IETATISG et UeTd T 872
Ans o 1. FAIGHOT
X 2. mdfa
X 3. FE
X 4 geverifa
Question ID : 630680287025
Option 11D : 6306801116014
Option 2 ID : 6306801116011
Option 31D : 6306801116013
Option 4 ID : 6306801116012
Status : Not Answered

Section : Quantitative Aptitude




Q.1

A & 1% e wediE & W AT A # 9 eafeadl gan a6 9 aEge’ S wE g g
arferrr &1 srewae &1 3t Pafafa e &= 3w &)

m  |=Ea

A B c D E
d@T (400 (420 |220 |- 260
T340 |- 500 |190 | 390
w260 |220 [390 |405 |-
s 520|490 |- 610 | 140
W |- 440 330 490 |330

afy A gamr &=h a5 argst F g @EAr 1700 }, & A G@0 @ER AR QAR # A s

FEgHT F T Rraem e 27
Ans o 1. 220
X2 230
X 3. 240
X 4. 250
Question ID : 630680287048
Option 11D : 6306801116103
Option 2 1D : 6306801116104
Option 31D : 6306801116105
Option 4 1D : 6306801116106
Status : Answered
Chosen Option: 1
Q.2 X ¥ =z x+y+z
ofg = = =, dr —— fhgar grem?
4 S 3 z
Ans X q 7
X2 6
3 4
Xa5

Question ID : 630680287043
Option 11D : 6306801116086
Option 2 ID : 6306801116085
Option 31D : 6306801116083
Option 4 ID : 6306801116084
Status : Answered
Chosen Option: 3




Q3 qﬁx=6+\f§,3ﬁty=6—xf§,3ﬂ'x2+y2ﬂmﬁ'ﬁmm

Ans

X 1. 79
X276
3 78
x4 77

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status

Chosen Option

: 630680287039
: 6306801116070
: 6306801116067
: 6306801116069
: 6306801116068
: Answered

03

Q4 A vsm F Fr 8 AT & wwar & 3t B 3 o w12 R & e ) ¥ e 38 e & e

=t & qr wiE
Ans 2
X1 3=
3
<25
4
w3 4=
g
X4 B
Question ID : 630680287046
Option 11D : 6306801116095
Option 2 1D : 6306801116097
Option 31D : 6306801116096
Option 4 ID : 6306801116098
Status : Answered
Chosen Option: 3
Q.5
afg 4x2 - 12xy + 5y2 = 0, & x : y Braar gem?
Ans X111 :43Tm4 1
X23:13ar1:3
v31:23r5:2
X42:137r1:2
Question ID : 630680287044
Option 11D : 6306801116090
Option 2 1D : 6306801116088
Option 31D : 6306801116089
Option 4 ID : 6306801116087
Status : Not Answered

Chosen Option :




Q.6 uw FEr FEge 3% T qpT W 10% H gT W M5 F ThE wh off| voiw 55 @ A T 2

#) fraar g =nfge?
Ans X 1. 28
2 25
X3 22
x4 24
Question ID : 630680287042
Option 11D : 6306801116082
Option 2 ID : 6306801116081
Option 31D : 6306801116079
Option 4 ID : 6306801116080
Status : Answered
Chosen Option : 2
Q7 gfy 33040 + 258.125 = 128 ¥, & 330.40 + 2581.25 & AA A HIaTY
Ans x1.12.8
X2 0.0128
3 0,128
X 4128
Question ID : 630680287053
Option 11D : 6306801116125
Option 2 ID : 6306801116126
Option 31D : 6306801116123
Option 4 ID : 6306801116124
Status : Answered
Chosen Option: 1
Q8 ux % o vF e F W F MY F 60° F 3wAT HT W W, FAF Y& g W F AR &
13 m gy g1 @8 & Fu (m FH) Trden geir?
Ans X 1. 16
21343
X3 1442
X 415
Question ID : 630680287052
Option 11D : 6306801116122
Option 2 ID : 6306801116121
Option 31D : 6306801116120
Option 4 ID : 6306801116119
Status : Answered
Chosen Option : 2




Q9 P, Q R & 3itaa o1 52 kg ¥ 7% P 3t Q 77 3itmT 5w 42 kg ®, 3k Q 3T R & sitea o 44

kg ¥, @ Q & &7 (kg H) fgam g

Ans s 16
X214
X313
X415
Question ID : 630680287040
Option 11D : 6306801116074
Option 2 ID : 6306801116072
Option 31D : 6306801116071
Option 4 1D : 6306801116073
Status : Not Answered
Chosen Option : --
Q.10 o giermesf o 100 m & gl & v IR = Tl I 9 A § A gt 3w 9o s
= R 9wt FAw 8 kmih 3T 9 kmih F Ay & gz §1 5 fEe ag (km #) 3 dw Hogd
Fraeir gefr?
Ans 3
X1 —
35
1
o2
&0
1
p i ——
45
2
X4
35
Question ID : 630680287047
Option 11D : 6306801116102
Option 2 ID : 6306801116099
Option 31D : 6306801116100
Option 4 ID : 6306801116101
Status : Not Answered
Chosen Option : --
Q11 850 ml s & S 3iv SRR & 379 5 0 3 1 9P &7 FOFES F 6 ¢ 7 I e, wgie
3t 0= @ T T arog we F B, swdE it e SfEe (ml @) Temer gene (Reeaw
quite a quitfend)
Ans X 1. 302
« 2301
X 3. 303
<4300
Question ID : 630680287045
Option 11D : 6306801116093
Option 2 ID : 6306801116092
Option 3 1D : 6306801116094
Option 4 ID : 6306801116091
Status : Not Answered

Chosen Option :




Q12w fsper &r = sfema FF 7T 5 om, 12 em 3T, 13 cm F1 BT F ST F T vF HET

@@ 10 cm g 3IF & 9T (em #) Fraar g7
Ans o 9 25

X2 27
X3 28
w4 26

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680287050

6306801116111
6306801116113
6306801116114
6306801116112

Status : Not Answered

Chosen Option : -

Q13 25 cm =&, 15 cm =2 3 6 cm ¥ TF W TR F TET ATFA (cm? F) R g2

Ans 11230
x2.1220
X3 1225
x4 1235

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287049
6306801116109
6306801116107
6306801116108
6306801116110
Answered

1

Q.14 =frr 7 39 8% FH T T ¥ IWF FH T AW IFAFY e IR Ferm J B 5% 38 A

3T & TS AW S HR? (T GUHEEE o quiied)l

Ans X1 8.5%
X2 84%
X3 8.8%
v 4 8.7%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287041
6306801116076
6306801116075
6306801116078
6306801116077
Answered

4




Q.15 o @i i pa HEEwR §, HEE Fas e isE @ 20% HRw &1 3 HEaR o B

T T3 & 97 F 3T 10 cm §, T IH 3T F ETFA (cm? FH) Fraar gem?

Ans 13000

< 2. 3565

< 3. 3555

< 4. 3560
Question ID : 630680287051
Option 11D : 6306801116115
Option 21D : 6306801116118
Option 31D : 6306801116116
Option 4 1D : 6306801116117

Status : Answered
Chosen Option: 1
Section : English Language & Comprehension
Q.1 Select the most appropriate meaning of the given idiom.
Over and above
Ans X 1.Fora while

Z5 2.In a short time

& 3. In addition to

/X 4. Torise high
Question ID : 630680287060
Option 11D : 6306801116151
Option 21D : 6306801116153
Option 31D : 6306801116152
Option 4 1D : 6306801116154

Status : Not Answered

Chosen Option :

Q.2 Parts of the following sentence have been given as options. Select the option that contains

an error.

A feast had being laid out for the'royal guests who were expected to arrive soon.

Ans X 1.to arrive soon
/5 2. who were expected
&" 3. A feast had being laid out

#< 4. for the royal guests

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287057
6306801116142
6306801116141
6306801116139
6306801116140
Not Answered




Q.3 Select the most appropriate ANTONYM of the given word.

Persuade
Ans X 1.Assure
X 2. Satisfy
" 3. Prevent
X 4. Convert
Question ID : 630680287062
Option 11D : 6306801116160
Option 21D : 6306801116161
Option 31D : 6306801116159
Option 4 1D : 6306801116162
Status : Not Answered
Chosen Option : --
Q.4 Select the most appropriate meaning of the given idiom.
Play into the hands of
Ans X 1.To give a performance
/5 2.To earn a lot of money
&" 3. To be controlled by someone
#< 4.To be deceived by someone
Question ID : 630680287061
Option 11D : 6306801116158
Option 2 1D : 6306801116155
Option 31D : 6306801116157
Option 4 1D : 6306801116156
Status : Not Answered
Chosen Option : --
Q.5 Select the most appropriate option to fill in the blank.
Some plants are to touch.
Ans X 1.senseless
/X 2. senile
& 3. sensitive
X 4. sensible
Question ID : 630680287058
Option 11D : 6306801116146
Option 2 1D : 6306801116145
Option 31D : 6306801116144
Option 4 1D : 6306801116143
Status : Not Answered

Chosen Option :




Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the

correct order to form a meaningful and coherent paragraph.

A. His mother named him Mkali, which means fierce.
B. Nothing in the jungle ever excited him.
C. Once upon a time, there lived a tiger.

D. But that was a misnomer because Mkali was a lazy little cat.

Ans X 1.CBDA
< 2.CDAB
< 3.CABD
«” 4. CADB

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287055
6306801116132
6306801116134
6306801116131
6306801116133
Not Answered

Q.7 Parts of the following sentence have been given as options. Select the option that contains

an error.

Many of us believe that small actions and choices does not have much impact.on our lives.

Ans X 1. Many of us believe
¥ 2. does not have much
Z< 3.impact on our lives

/5 4. that small actions and choices

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287056
6306801116135
6306801116137
6306801116138
6306801116136
Not Answered

Q.8 Select the most appropriate synonymof the given word.

Illustrious
Ans " 1. Renowned

75 2. Inferior
< 3. Notorious
/< 4. Mundane

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287063
6306801116166
6306801116165
6306801116164
6306801116163
Not Answered




Q.9 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the

correct order to form a meaningful and coherent paragraph.

A. The first green corridor in India was created by Chennai Traffic Police in September

2008.

B. That organ saved a nine-year-old girl whose life depended on the transplant.

C. They accomplished their task of enabling an ambulance to reach its destination within 11

minutes during peak hour traffic.

D. The traditional method of transporting organs by road is referred to as a ‘green corridor’.

Ans X 1.ACDB

< 2. ABDC
X 3.DBAC
«" 4. DACB
Question ID : 630680287054
Option 11D : 6306801116129
Option 2 1D : 6306801116127
Option 31D : 6306801116130
Option 41D : 6306801116128
Status : Not Answered
Chosen Option : --
Q.10 Select the most appropriate option to fill in the blank.
Do you know a short cut the airport?
Ans X 1.of
X 2.in
o 3.10
X 4. at
Question ID : 630680287059
Option 11D : 6306801116149
Option 2 1D : 6306801116148
Option 31D : 6306801116150
Option 4 1D : 6306801116147
Status : Answered
Chosen Option: 1
Q.11 Select the most appropriate option-to fill in the blank.
This car belongs to our family. Itis
Ans X 1.ours’
X 2. our
X 3.our's
o 4. ours
Question ID : 630680287064
Option 11D : 6306801116170
Option 2 1D : 6306801116167
Option 31D : 6306801116168
Option 4 1D : 6306801116169
Status : Answered
Chosen Option : 3




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—large molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 12

Q.12 Which of these is NOT true?

Ans

/< 1. Plastics last for a very long time.
/< 2.By 2025, 16 million tons of plastic trash will end up into the ocean every year:
& 3. Ocean plastic outweighs fish in the sea.

5 4. Soda can rings resemble jelly fish.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287069
6306801116186
6306801116185
6306801116184
6306801116183
Not Answered




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 13

Q.13 What is common between different types of plastics?

Ans

«” 1. They have the same chemical structure.
75 2. They can be used for making bottles.
Z5 3. They are consumed by sea creatures.

< 4. They are all dumped into the sea.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287067
6306801116177
6306801116175
6306801116178
6306801116176
Not Answered




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 14

Q.14 What is the passage mainly about?

Ans

#< 1. Beach clean-up
o 2. Plastic pollution
75 3. Uses of plastic
5 4. Trash disposal

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287068
6306801116182
6306801116180
6306801116179
6306801116181
Not Answered




Comprehension:
Read the given passage and answer the question that follows.

All of Earth’s oceans share one thing in common ‘plastic pollution’. When people litter, or when
the trash is not properly disposed of, things like plastic bags, bottles, straws, foam and
beverage cups get carried to the sea by winds and waterways. About 80% of ocean plastic
originates on land. The rest comes from marine industries such as shipping and fishing.

In 2015, engineer Jenna Jambeck at the University of Georgia and other researchers
calculated that at least 8 million tons of plastic trash are swept into the ocean from coasts
every year. That's the equivalent of a full garbage truck of plastic being dumped into the sea
every minute. If current trends in plastic production and disposal continue, that figure will
double by 2025. A report published by the World Economic Forum last year predicts that by
2050, ocean plastic will outweigh all the fish in the sea.

In today’s world, plastic is everywhere. There are different types of plastics, but they are all
made of polymers—Ilarge molecules made up of repeating units. Their chemical structure
gives them a lot of advantages: they're cheap and easy to manufacture, lightweight, water-
resistant, durable and can be moulded into nearly any shape.

Sea turtles eat plastic bags and soda-can rings, which resemble jellyfish, their favourite food.
Seabirds eat bottle caps or chunks of foam cups. Plastic pieces may make an animal feel full,
so it doesn't eat enough real food to get the nutrients it needs.

One way to keep the ocean cleaner and healthier is through clean-up efforts. A lot of plastic
waste caught in ocean currents eventually washes up on beaches. Removing it prevents it
from blowing out to sea again. Beach clean-up is ocean clean-up. But it's critical to cut down
on the amount of plastic that reaches the sea in the first place.

SubQuestion No : 15

Q.15 What percentage of plastic in the oceans is contributed by marine industries?

Ans X 1.25%
X 2.50%
" 3.20%
< 4.80%
Question ID : 630680287066
Option 11D : 6306801116172
Option 2 ID : 6306801116173
Option 31D : 6306801116171
Option 4 ID : 6306801116174
Status : Not Answered
Chosen Option : --
Q1 gre &, fege oo 3R we e F BT FiF-ar fiarva (BIS) A o 22
Ans w1 1S 1293
X213 618
X3 1S 694
X4 1S 302-1-4
Question ID : 630680287089
Option 11D : 6306801116263
Option 2 1D : 6306801116265
Option 31D : 6306801116264
Option 4 1D : 6306801116266
Status : Not Answered
Chosen Option : --




2 fyegd-ave & Wy # feAfaad # @ HA-A Hud e §2

Ans X 1.

HaTRUT T Uehet & o0 TEega-orde &1 393 faar e 7

x 2

AT FT T AT TG T e HUESA T H HUS TAAT AT F

3.

AT T T A g F 3T e vHeA 9 H w@AE F w9 H G s

X 4

Rrega-ove &1 3T 5l avg % T # 30 a9 &g AT S §edr 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287098
6306801116299
6306801116301
6306801116302
6306801116300
Answered

3

Q3 o= wr ofEdt gk &, sy oo # faega o & 9 W & o 5w oRmerar

FET ST 7

X0 Taega-geh e
v 2. Taega-gedhT o
x 5. Rrega-dedT gfodrr
 + Prage e s

Question ID :
: 6306801116315
: 6306801116318
: 6306801116316
: 6306801116317
. Answered

Chosen Option :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

630680287102

2




Q4 PR Fue § ¥ T8 suA/FuEAr # aae S

Ans

i. ¥ F7 Rege dedT Swor F e, Rega ST F R gw R #

i. fega 7o seMea A, Rega I #1 AT S F FANT FET MAS g

iii. T F=A F Fegd F= # FCRT B & e Regd FET F1 s9ae Gar S gl

X i i gt
X2, i 3 i

v 3 i AR il gEr
X4 i 3t iii @=t

Question ID : 630680287071
Option 11D : 6306801116193
Option 21D : 6306801116194
Option 3.ID : 6306801116192
Option 41D : 6306801116191
Status : Answered
Chosen Option : 3

@ El

Question ID : 630680287106
Option 11D : 6306801116332
Option 2 1D : 6306801116331
Option 31D : 6306801116334
Option 4 1D : 6306801116333
Status : Answered
Chosen Option : 4




¥ foega WeT & sEERA FE TR D AT 22
v Tega TOE F TR W FH E

X 2. qUTe H diecdT TaT F T

x o Tege TRwoT gt # gUR

x4 Rrega et @ d

Question ID : 630680287079
Option 11D : 6306801116224
Option 2 ID : 6306801116226
Option 31D : 6306801116225
Option 4 ID : 6306801116223
Status : Answered
Chosen Option : 2

Q7 =faf@a & @ FiF-97 F96q, A saacHd F18 (NEC) THiera FIar 82
M X RS ATEE =3 (BIS)

v 2. AU BT GIEFUT TETETA (NFPA)

X 3.

SEITIT 3T Safagahd US Soagi=ed sesii=ay (IEEE)
X 4 e FE 9fywg (ICC)

Question ID : 630680287082
Option 11D : 6306801116235
Option 2 ID : 6306801116237
Option 31D : 6306801116238
Option 4 ID : 6306801116236
Status : Answered
Chosen Option : 1




¥ RE ¥ 9 T F TuT #Y

Ans X 1.

sfEeTe Rega Faa yomer F eor ofed U A @ g

2

P Rega Fee qumel # gd 399 FOT FRSE A a2

X 3.

g fega Fao yomeh ¥ e §, Ant & T Foaw S 3w 4

x 4

fFTa fggd Fae JUTEN & AT H HRETT AT wga 30 g ¢

Question ID : 630680287095
Option 11D : 6306801116289
Option 2 ID : 6306801116287
Option 3 ID : 6306801116290
Option 41D : 6306801116288
Status : Answered
Chosen Option : 4
Q.9  Fe-3iE o T e F el & ST w98 qEF & & F w7 H wd w1 gl
Ans
X 1. Uy (UPS)
v 2. TEr=r (Switch)
X 3. giyger (Circuit)
X 4. gesT (Holder)
Question ID : 630680287108
Option 11D : 6306801116342
Option 2 1D : 6306801116339
Option 31D : 6306801116341
Option 4 1D : 6306801116340
Status : Answered
Chosen Option : 2
Q10 2r vmreas wet B WER e W AW W, ¥ vHEEy A T
Ans
X IR
v 2 gfaeiia
X 3. ager gfasia T smeita
X 4 gerrfad F@r
Question ID : 630680287073
Option 11D : 6306801116200
Option 2 1D : 6306801116199
Option 3 1D : 6306801116202
Option 4 ID : 6306801116201
Status : Answered

Chosen Option :

1




Q.11 wFurfes 1 DC ity F dieear @19 & g F T8 [ WE FRARF w0 Ry F om,

Ans XTEW%
X2 Ry e R

X3 gedr g
v T B AT §
Question ID : 630680287103
Option 11D : 6306801116319
Option 21D : 6306801116322
Option 31D : 6306801116320
Option 41D : 6306801116321
Status : Answered
Chosen Option: 2
Q.12 foega 9oty & #au # A=ffla # @ Fla-ard @ 77 g7
i. ¥ 3T (ohms) & ATIT AT B
ii. 77 Fega o & vag ¥ wer Bl avg ¥ gfadg & A g
iii. 7g Rrelr aivay $r Rega smaer #F waed F T aFar F AW g
Ans P
X0 3 i
v 2 i AT ii g=r
X 3ii 3T i g
X4 3 i gt
Question ID : 630680287076
Option 11D : 6306801116211
Option 21D : 6306801116214
Option 31D : 6306801116212
Option 41D : 6306801116213
Status : Answered

Chosen Option

01




P ED ¥ duy F BlT § ¥ FiF- sy o §?
A X1 LED #E T F 39erey ¥

X 2.

&3

X 4

ST Tgg &1 gofe # LED & Siawiere A g gl
LED wfadif®a egm @ gorem 7 o fserr & g9a s &

LED &r 931 @1 Light Emitting Diodes (sse Tfafeer smasa) gl

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680287099
6306801116303
6306801116305
6306801116304
6306801116306
Answered

3

U Frw TmEsieEEE gEd AHAES T, ¥ forc garar E

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287088
6306801116259
6306801116261
6306801116260
6306801116262
Answered

1




Q15 Grafafed & & g 39T & sTAeT T Y P 1 S & T e e 32

AN X1 TFeT (Tester)

X 2. TomI (Pliers)

v 2 UgHd (Screwdriver)

X 4. ¥ (Wrench)

Question ID : 630680287084
Option 11D : 6306801116244
Option 2 ID : 6306801116245
Option 31D : 6306801116246
Option 4 ID : 6306801116243
Status : Answered
Chosen Option: 3
Q.16 T & FOH & AR, Hae ST, FNUT F IER FaT
A X1 apaeiaor
v 2 rEdeT
X 3. W=t
X 4 HEa
Question ID : 630680287105
Option 11D : 6306801116330
Option 2 ID : 6306801116327
Option 31D : 6306801116329
Option 4 ID : 6306801116328
Status : Answered
Chosen Option: 2
Q.17
‘Fieedr U T 3T, F ACS & faw AT I gl
Ans
1.
x . faega smaer
X 2. faegdm gferer
v ¢ Taega a@s o
X 4. Taega arfed
Question ID : 630680287075
Option 11D : 6306801116207
Option 21D : 6306801116209
Option 31D : 6306801116210
Option 4 ID : 6306801116208
Status : Answered
Chosen Option : 3




Q18 sy ofywy F wfoty fBew Tt 3k dieear AepEr fFr a9 ), uRT W Fr geE @e?

AN X Tg el @ STeE
X 2 Tg o= T[T B ST

v 5 TE QNI @ ST
X 4 Ig FATA T

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

Chosen. Option :

630680287083
6306801116239
6306801116241
6306801116240
6306801116242
Answered

3




VP et gt # e Sifvw

Ans

el el
i. fege veafe® w0 | a. Sfen# suw
ii. WY FAT b. TEEfE AfAfFaT

i, g &2

iv. fagge Jadr awor

d. SeRrEeery T

v 1 A
X2 C
X3 B
X4 D

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287072
6306801116195
6306801116197
6306801116196
6306801116198
Answered

1




Ans

et

O Crafafm § ¥ Fi9-a1 ey 3=t Regad & 77 F 19 w=ar 87

Chosen Option :

X 1. qrer
X2 g
X o ot
W 4 HHh
Question ID : 630680287077
Option 11D : 6306801116215
Option 21D : 6306801116218
Option 31D : 6306801116217
Option 41D : 6306801116216
Status : Answered
Chosen Option : 4
Q21 freEx Fige (Fixture joint) FT 393 FT&T & F ¥ fore fFor =T B
AT X AR W A
X 2. el T oES g
3. =
v o ATET TS FI ACT oSl H A3
a S
X 4 AT W FHeA
Question ID : 630680287091
Option 11D : 6306801116274
Option 2 ID : 6306801116273
Option 31D : 6306801116272
Option 4 ID : 6306801116271
Status : Not Answered
Chosen Option : --
Q.22 Z2RfEr (electricity) oreg #r 3odfeq F oy & P=faf@e & ¥ Fi9-w/d suw wew =8 2
i. SATFETRE (electricity) ereg #r 3eafen e oree ¥ S ¥
i. LT (electricity) &7 BT F1 47 F=fAa e (Benjamin Frankling &t =mam #1
iii. 3% FF § Bega = A sl Brar =mar &
Ans - .
X1 Fae i
X2 i AR i grar
3 FHael i
X4 3R i g
Question ID : 630680287070
Option 11D : 6306801116189
Option 2 ID : 6306801116190
Option 31D : 6306801116187
Option 4 ID : 6306801116188
Status : Answered

1




V2 Ryega wonfordl & siEuea w1 gET 3w, @

Ans X 1. JOTRr % ofed T[UTR H FUR FIAT
X2 A & TEHT AT W HIH TaIT HA
x 5. fagge 39Ol B ETEfser r Jsar
v faega 39 & F=ar AR g gatea w3

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 630680287081
: 6306801116233

: 6306801116232
: 6306801116234
: 6306801116231
. Answered

Chosen. Option :

4

0¥ Crafaf@e § ¥ FiF-ar e e $ R 76 82

AN X1 mET el o T TeaT B
X2

HET F 3 3ol HIAT § ST AT GES FT &l &l

&3

Regdra 3T W FE T F BT F9 mew deeT @

X 4 g IRTYE, AT TS F TH GG FROT 3

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287087
6306801116255
6306801116256
6306801116257
6306801116258
Answered

2




Gl § @ FiF-a1 Reew, Fue #1 90T Tew A6 87

Chosen Option :

Ans X 1. =ITeTeR
X 2 faega e (Fgeier)
V3 Oew
AL
X 4 JLETTcHE STehd
Question ID : 630680287092
Option 1 ID : 6306801116275
Option 2 ID : 6306801116276
Option 31D : 6306801116278
Option 4 ID : 6306801116277
Status : Answered
Chosen.Option : 3
Q26 ey (LT) fRewor &, T HT ST FT 3IAT HAT 1T 8
Ans 1 XHV
<2 XLPE
<3 PILCA
v 4 PVC
Question ID : 630680287094
Option 11D : 6306801116286
Option 2 ID : 6306801116285
Option 31D : 6306801116283
Option 4 ID : 6306801116284
Status : Answered
Chosen Option : 4
.27 .
V7 srude gees & AT wiw R 9oy 1 3w R S 27
Ans
1. CeIfAATH
X 2
v 7 e
X 3. coniEees
X 4. i
Question ID : 630680287080
Option 11D : 6306801116228
Option 2 ID : 6306801116230
Option 31D : 6306801116227
Option 4 ID : 6306801116229
Status : Answered

1




Q28 fegq AR Row Tay, FERRd & F FF 90T @ 39 B er?
i. %o g7 (Cable drums)
ii. FEEHET (Multimeter)
iii. TITeT eI (Angle rollers)
iv. R (Wrench)
R iR v @
v 2 i AT i g
Xsii 3R i @t
X4 3R i gt

Question ID : 630680287086
Option 11D : 6306801116254
Option 2 ID : 6306801116252
Option 31D : 6306801116253
Option 4 1D : 6306801116251
Status : Answered
Chosen Option : 2

O 9T T YEE FE W AN F RS qER &7 H A,
MK maE e
X 2 QT g SATCE

73 g
o 4 FEa

Question ID : 630680287101
Option 11D : 6306801116314
Option 2 1D : 6306801116313
Option 31D : 6306801116312
Option 4 ID : 6306801116311
Status : Answered
Chosen Option : 4




Q30 TrfafEm & & siv-ar Bwey, e F Bv sg7a 70 F R-TINF BT #5580 82

Ans

o 1 mm”
X 2. garer
X3 B
X 4 STpiae g
Question ID : 630680287107
Option 11D : 6306801116336
Option 21D : 6306801116337
Option 31D : 6306801116335
Option 41D : 6306801116338
Status : Answered
Chosen Option : 1
Q.31 :
ar =TTl T FATSeT T 9iehar =1 Far JaT B
Ans . . .
X 1. FaATFET (connecting)
X 2. ST (looping)
¢ 3 FIET (jumpering)
x4 s‘ﬂﬂﬁ?Ta (insulating)
Question ID : 630680287093
Option 11D : 6306801116279
Option 21D : 6306801116282
Option 31D : 6306801116281
Option 41D : 6306801116280
Status : Answered
Chosen Option: 2
Q.32 Rega 3Tl At Fi= W damsTE (BIS) R, THR & AR F TG F ST Fer
gl
Ans
1. 1 % L) dAUIdrdl Hlerich
X 2. 3T GR&T
X 3. seaer-Afdse ged=
X 4. TUTETOT-3e
Question ID : 630680287090
Option 11D : 6306801116270
Option 2 ID : 6306801116267
Option 31D : 6306801116269
Option 4 ID : 6306801116268
Status : Answered

Chosen Option :

1




Q.33

Ans

AT U faega S99, & AW W F g

v 1. Rega-gedT o
% 2. Frega-dedT T

x 5. Fega-geda a7

X o Taega-gehrg fAfasor

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option

630680287100
6306801116309
6306801116310
6306801116308
6306801116307
Answered

01

v 2 R # &ROT AT f-9faire
X3 frdr ooy & arr varg
X 4. fosdlr few are aftmy #r faega afEd

Q3 e (Megger) T 39T F AT & forw fFar Jar 21
" x0. fege oy # g figat ¥ @ feEiw

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680287085
6306801116248
6306801116249
6306801116247
6306801116250
Answered

2

Ans

X 1. gfarer se= & o)
X 2 9@ & qUT H & o

v . Foega-smweT & Asor & o & ol
X4 geAe F HEET #=1 F P

O35 frega TEfE A F FE0T A FOITAT I F A THUR 87

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680287097
6306801116295
6306801116297
6306801116296
6306801116298
Not Answered




0% 3w ¥ o & TAY # PewRied # ¥ Sea o w8
s X1R=1/E

X2 | = ER
X3 R = El
4 E = IR
Question ID : 630680287074
Option 11D : 6306801116206
Option 21D : 6306801116203
Option 31D : 6306801116205
Option 41D : 6306801116204
Status : Answered
Chosen Option : 4
Q.37 fagge ur yaifed v FRET e OIS W uTg Y WA FAT F B WA F T e g
A
* k. Rega-atfad
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Question ID : 630680287096
Option 11D : 6306801116294
Option 2 ID : 6306801116291
Option 31D : 6306801116292
Option 4 ID : 6306801116293
Status : Answered
Chosen Option : 4
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Question ID : 630680287109
Option 11D : 6306801116345
Option 2 ID : 6306801116344
Option 31D : 6306801116346
Option 4 ID : 6306801116343
Status : Not Answered
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Question ID : 630680287078
Option 11D : 6306801116220
Option 2 ID : 6306801116219
Option 3 ID : 6306801116221
Option 4 ID : 6306801116222
Status : Answered
Chosen:Option : 3
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Question ID : 630680287104
Option 11D : 6306801116324
Option 2 ID : 6306801116326
Option 31D : 6306801116323
Option 4 1D : 6306801116325
Status : Answered
Chosen Option : 2




